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NCERT - NCERT MATHEMATICS(GUJRATI)

INTEGRALS

1. Write an anti derivative for each of the following functions using

the method of inspection:

(i) cos2x (ii) 322 + 4z (iii) % z#0

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RnjUZ7ZjKrjM

2. Find the following integrals:

3 _ 9 3
Q) /x . L iz (i /(aﬁ i 1)d@° (iii) /<a:2 12" — l)dw
XL X

° Watch Video Solution

3. Find the anti derivative F of f defined by f (x) = 4z® — 6, where F (0)

=3

0 Watch Video Solution

4. Integrate the following functions wir.t. x:

tan* \/z sec’ \/z (i) sin(tan~! )
iv
Vv 1+ 22

(i) sinmx (ii) 2z sin(z® + 1) (iii)

o Watch Video Solution



https://dl.doubtnut.com/l/_jBhy8rKJhJLZ
https://dl.doubtnut.com/l/_jveyRHE5cunA
https://dl.doubtnut.com/l/_1G6zh4rgfCSi

5. Find the following integrals:

sinx

1
. .. 3 2 ..
(i) /sm x cos” zdz (ii) mdaz (iii) /mda:

° Watch Video Solution

6. Find (i) /zosz zdz (i) /sin2m cos 3zdz (i) [sin® zdx

° Watch Video Solution

7.Find the following integrals:

/ - 16 V2 — Vo —z°

° Watch Video Solution

8. Find the following integral :

/ dx
x2 — 6z + 13



https://dl.doubtnut.com/l/_tJHewz37slSz
https://dl.doubtnut.com/l/_21aZXcN0ARi3
https://dl.doubtnut.com/l/_B1DoBgzyyvth
https://dl.doubtnut.com/l/_GBodH4NKr7gT

° Watch Video Solution

9. Find the following integral :

/ T+ 2
dx
22 +6x + 5

o Watch Video Solution

) dx
10. Find /(x 1)z £ 2)

° Watch Video Solution

2
11. Find /w—Hdm
x2 — 5z +6

o Watch Video Solution

) 3x — 2
12.F|nd/ 5 dx
(z +1)"(z + 3)



https://dl.doubtnut.com/l/_GBodH4NKr7gT
https://dl.doubtnut.com/l/_R734oQnzGFom
https://dl.doubtnut.com/l/_kse8wKAiqt4V
https://dl.doubtnut.com/l/_QmrllrFtJDCX
https://dl.doubtnut.com/l/_ypKN94uHLJcc

o Watch Video Solution

13. Find

/(az2 T 1) (22 1 4) dz

o Watch Video Solution

(3sin¢ — 2)cos ¢ p

14.Find
5 — cos?2 ¢ — 4sin¢

o Watch Video Solution

2 1d
15.Find/x Tr At law
(z + 2)(z2 + 1)

° Watch Video Solution

16. Find /w cos zdx



https://dl.doubtnut.com/l/_ypKN94uHLJcc
https://dl.doubtnut.com/l/_qhYSddLeWq4j
https://dl.doubtnut.com/l/_3NjlcMTSan6I
https://dl.doubtnut.com/l/_tiP02TbeghKu
https://dl.doubtnut.com/l/_wZERvTnv2Mlt

L % watch viaeo soiution

17. Find ﬁog xdx

° Watch Video Solution

18. Find fcewdx

o Watch Video Solution

o1
19. Find /de
V1— x?

° Watch Video Solution

20. Find /em sin zdzx

° Watch Video Solution



https://dl.doubtnut.com/l/_wZERvTnv2Mlt
https://dl.doubtnut.com/l/_VGmlQH1HFbob
https://dl.doubtnut.com/l/_OMdwuP4EGoW5
https://dl.doubtnut.com/l/_uiq9Iv6b4Fr5
https://dl.doubtnut.com/l/_WbbfquJgpH4w

o ( ) 1 ) (= +
21. Find (i) /e”” tan "z + dx (ii) /—
1+ z2

° Watch Video Solution

22.Find /\/932 + 2z + bdx

° Watch Video Solution

23.Find / 3 — 2z — z’dz

o Watch Video Solution

2
24. Find / (:v2 + 1) dz as the limit of a sum.
0

° Watch Video Solution



https://dl.doubtnut.com/l/_WbbfquJgpH4w
https://dl.doubtnut.com/l/_gapz9hM5IZT7
https://dl.doubtnut.com/l/_cnxS7iWE1NuC
https://dl.doubtnut.com/l/_MtuzOiEp6ofv
https://dl.doubtnut.com/l/_mpXzsigINhgC

2
25. Evaluate / e*dz as the limit of a sum.
0

o Watch Video Solution

26. Evaluate the following integrals:

(i / z’dz (i) /4 ve )2dm

30—x2

(i) T wdz (iv)  int 2% cos 244t
11 A (J; + 1)(:0 + 2) v /0v Sin COS

0 Watch Video Solution

1
27. Evaluate/ 5:1:4\/:135 + 1dz
1

° Watch Video Solution

! ta,n_1 T
28. Evaluate —dx

o 1+ z2



https://dl.doubtnut.com/l/_I7LKeVfxEAan
https://dl.doubtnut.com/l/_KalI8p0nIn9J
https://dl.doubtnut.com/l/_o1N9UptSCkpN
https://dl.doubtnut.com/l/_zOtVkYpEK1eK

° Watch Video Solution

2

29. Evaluate/ ‘a:?’ — a:’da:
1

° Watch Video Solution

4
30. Evaluate/ sin® zdx

— T

4

o Watch Video Solution

T rsinzx
31. Evaluate/ — dx
o 1+ cos’zx

o Watch Video Solution

1
32.Evaluate / sin® z cos* zdz
1

[


https://dl.doubtnut.com/l/_zOtVkYpEK1eK
https://dl.doubtnut.com/l/_Dat74NuhUK4W
https://dl.doubtnut.com/l/_xGj1ykpCiw6i
https://dl.doubtnut.com/l/_Dxt47Kyve6uU
https://dl.doubtnut.com/l/_OWYwYLNVlTVj

[ & Watch Video Solution

sin* z

3
33. Evaluate / 1 dx
0 sin"x 4+ costzx

o Watch Video Solution

3 dzx
34, Evaluate /

x 1+ y/tanx

o Watch Video Solution

2
35.Eva|uate/ log sin xdx
0

° Watch Video Solution

36.Find /cos 6x+/1 + sin 6xdx

| o Watch Video Solution


https://dl.doubtnut.com/l/_OWYwYLNVlTVj
https://dl.doubtnut.com/l/_ZNsJzzQzI2wi
https://dl.doubtnut.com/l/_ZuyyPizDr9ez
https://dl.doubtnut.com/l/_sctysuELFQFp
https://dl.doubtnut.com/l/_iOfJl0TG5ctx

37.Find /udm

° Watch Video Solution

4
38. Find / z_dz
(z —1)(z2 +1)

° Watch Video Solution

1
39.Find [|sin(logz) + o
(logz)

° Watch Video Solution

40.Find /[\/cot T + \/ta,nx} dx

o Watch Video Solution



https://dl.doubtnut.com/l/_iOfJl0TG5ctx
https://dl.doubtnut.com/l/_cv5kLgpKyljU
https://dl.doubtnut.com/l/_KbV7Q43WQHdH
https://dl.doubtnut.com/l/_3IF3NslMqzBx
https://dl.doubtnut.com/l/_P7rlby4wwDUA

) sin 2z cos 2zdx
41.Find
V9 — cost(2x)

o Watch Video Solution

2
42, Evaluate/ |z sin7x|dx
-1

o Watch Video Solution

rdx

™
43. Evaluate / —
0o a2cos?zx + b2sin“x

o Watch Video Solution



https://dl.doubtnut.com/l/_P7rlby4wwDUA
https://dl.doubtnut.com/l/_dfBZyUpZGghz
https://dl.doubtnut.com/l/_MFfKZGZb9eqb
https://dl.doubtnut.com/l/_DISmaE4PtaxH

1. Find an anti derivative (or integral) of the following functions by
the method of inspection.

sin 2x

o Watch Video Solution

2. Find an anti derivative (or integral) of the following functions by
the method of inspection.

cos 3X

0 Watch Video Solution

3. Find an anti derivative (or integral) of the following functions by

the method of inspection.

621:

° Watch Video Solution



https://dl.doubtnut.com/l/_HOgyZXx3VD4i
https://dl.doubtnut.com/l/_JHE6VH0Je5to
https://dl.doubtnut.com/l/_HgwaLKZcdRHt

4. Find an anti derivative (or integral) of the following functions by
the method of inspection.

(az + b)®

° Watch Video Solution

5. Find an anti derivative (or integral) of the following functions by
the method of inspection.

sin 22— 4e3®

° Watch Video Solution

6. Find the following integrals

/(463”” + 1)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_HgwaLKZcdRHt
https://dl.doubtnut.com/l/_XOpnTdZ2rWuI
https://dl.doubtnut.com/l/_7aGjL9gIGW9D
https://dl.doubtnut.com/l/_glnKbNrvCrYY

7.Find the following integrals

)

° Watch Video Solution

8. Find the following integrals

/(a.:c2 + bz + c) dx

o Watch Video Solution

9. Find the following integrals

/(29[:2 + e%)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_uKH6oG201ukD
https://dl.doubtnut.com/l/_jH21UlnfIZoG
https://dl.doubtnut.com/l/_ldo8SgcDoS66

10. Find the following integrals

o5 -

o Watch Video Solution

3 2
11./x + 5z 4da:

r2

° Watch Video Solution

12. Find the following integrals

xS +3x +4

— dx
NE'

° Watch Video Solution



https://dl.doubtnut.com/l/_zJ8QGPpYHmKA
https://dl.doubtnut.com/l/_7c4H13EuSwt1
https://dl.doubtnut.com/l/_qi9NupjI40qC

13. Find the following integrals

23 —x? +z -1
/ dz

z—1

° Watch Video Solution

14. Find the following integrals

/(1 — z)/zdx

° Watch Video Solution

15. Find the following integrals

/ﬁ (327 + 2z + 3)dz

o Watch Video Solution



https://dl.doubtnut.com/l/_vz8KPNK7O4Cj
https://dl.doubtnut.com/l/_Y1d0mo81fibF
https://dl.doubtnut.com/l/_dYjgfwNyQDmq

16. Find the following integrals

/(23: — 3cosz + e”)dx

° Watch Video Solution

17. Find the following integrals

/(231:2 — 3sinx + 5ﬁ) dx

° Watch Video Solution

18. Find the following integrals

/sec:c(sec z + tanz)dz

o Watch Video Solution



https://dl.doubtnut.com/l/_U5SiCGwTfBAk
https://dl.doubtnut.com/l/_LqYDL2mk9ayU
https://dl.doubtnut.com/l/_z6aZ3Dz6fRHz

19. Find the following integrals

sec2 T
osea
cosec'x

° Watch Video Solution

20. Find the following integrals

— 3sinz
—2dx
Ccos®

° Watch Video Solution

21. Choose the correct answer

The anti derivative of (ﬁ + —

; )
equals

VT

1 1 1
A.Eass + 2x2 + C

2 1

2 3 1
C.gazz + 2zx2 + C



https://dl.doubtnut.com/l/_U1nEaIGWtmbV
https://dl.doubtnut.com/l/_ff3ofFHqn0NK
https://dl.doubtnut.com/l/_FCDpjvlwleAr

[N19Y)
HI
+
Q

O
| o
&
N =

Answer: C

° Watch Video Solution

22. Choose the correct answer

If if(a:) = 4z3 — 3 such that f (2) = 0. Then f (x) is
dx x4

Azt + i —&
x3 8
B.xz3 + i +&
x4 8
C.zt + 2 +&
x3 8
D.x® + i —ﬁ
zt 8
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FCDpjvlwleAr
https://dl.doubtnut.com/l/_w2aE1VOdhj2j

1. Integrate the functions

2
1+ 2

° Watch Video Solution

2. Integrate the functions

(logz)’
x

o Watch Video Solution

3. Integrate the functions

1
x + zlogx

° Watch Video Solution



https://dl.doubtnut.com/l/_yiJFnYeQr0WW
https://dl.doubtnut.com/l/_XuiYN4ddre9u
https://dl.doubtnut.com/l/_rDTRJk9LnRjY
https://dl.doubtnut.com/l/_tUa5S962SVbT

4. Integrate the functions

sin z sin(cos )

° Watch Video Solution

5. Integrate the functions

sin(axz + b)cos(ax + b)

o Watch Video Solution

6. Integrate the functions

vJar + b

° Watch Video Solution

7.Integrate the functions

:E\/$—|—2


https://dl.doubtnut.com/l/_tUa5S962SVbT
https://dl.doubtnut.com/l/_SeH24lZyJlYs
https://dl.doubtnut.com/l/_pWscRgS4TdCZ
https://dl.doubtnut.com/l/_y5YVIqPGOEKZ

o Watch Video Solution

8. Integrate the functions

zy/ 1+ 222

° Watch Video Solution

9.Integrate the functions

(4 +2)v/z2 + 2 + 1

° Watch Video Solution

10. Integrate the functions

1

z—

° Watch Video Solution



https://dl.doubtnut.com/l/_y5YVIqPGOEKZ
https://dl.doubtnut.com/l/_bmU4KUyb3qrw
https://dl.doubtnut.com/l/_iXYuaK5UlFKa
https://dl.doubtnut.com/l/_RJg9F7DEd442
https://dl.doubtnut.com/l/_bEkWHt9H8Hiq

11. Integrate the functions

,x >0

T
Ve +4

° Watch Video Solution

12. Integrate the functions

(«" = 1)

w |

:B5

o Watch Video Solution

13. Integrate the functions

2132

(2 + 323)°

o Watch Video Solution



https://dl.doubtnut.com/l/_bEkWHt9H8Hiq
https://dl.doubtnut.com/l/_LUOx0eabuPmD
https://dl.doubtnut.com/l/_wbydZuxv9Nse

14. Integrate the functions

1
——z>0m#1
z(logz)™ 7

° Watch Video Solution

15. Integrate the functions

x
9 — 4x2

o Watch Video Solution

16. Integrate the functions

62w+3

° Watch Video Solution



https://dl.doubtnut.com/l/_3tsh3Cu21GCo
https://dl.doubtnut.com/l/_tPJWc333ZvOP
https://dl.doubtnut.com/l/_ff5U7pcWPSCr

17. Integrate the functions

em

° Watch Video Solution

18. Integrate the functions

-1
etan T

1+ 22

° Watch Video Solution

19. Integrate the functions

e’ —1

62m+1

° Watch Video Solution



https://dl.doubtnut.com/l/_kEM2NdwfFOeO
https://dl.doubtnut.com/l/_0cQ7xGwAp2vl
https://dl.doubtnut.com/l/_NpXS8vvBpbDj

20. Integrate the functions
e — e~

2x

° Watch Video Solution

21.Integrate the functions

tan®(2z — 3)

° Watch Video Solution

22.Integrate the functions

sec?(7 — 4x)

o Watch Video Solution



https://dl.doubtnut.com/l/_dOV7pyCDUsFM
https://dl.doubtnut.com/l/_miE8ogFPKKRI
https://dl.doubtnut.com/l/_zJ4HjwhTVabO

23. Integrate the functions

sin 'z

V1—zx2

° Watch Video Solution

24. Integrate the functions

2cosx — 3sinzx

6cosx + 4sinzx

o Watch Video Solution

25. Integrate the functions

1

cos2 z(1 — tanz)’

° Watch Video Solution



https://dl.doubtnut.com/l/_OZEqo0Foxogy
https://dl.doubtnut.com/l/_Ml4CMpGOIwMx
https://dl.doubtnut.com/l/_CLwYfWDe1V77

26. Integrate the functions
cos /T

NZ3

° Watch Video Solution

27. Integrate the functions

v/sin 2x cos 2z

° Watch Video Solution

28. Integrate the functions

COS T

v1+sinzx

° Watch Video Solution



https://dl.doubtnut.com/l/_GCPNxq9VUphS
https://dl.doubtnut.com/l/_f0Kfk65A7hhw
https://dl.doubtnut.com/l/_F7dya6FRXFL6

29. Integrate the functions

cot x log sin x

° Watch Video Solution

30. Integrate the functions
sinz
14 cosz

o Watch Video Solution

31. Integrate the functions
sinz

(1+ cosz)?

o Watch Video Solution



https://dl.doubtnut.com/l/_pI2MzXsz4Uql
https://dl.doubtnut.com/l/_scTsMG3bAyz2
https://dl.doubtnut.com/l/_wvrcC5ZvASKX

32.Integrate the functions

1
1+ cotx

° Watch Video Solution

33.Integrate the functions

1
1 —tanzx

o Watch Video Solution

34. Integrate the functions

Vvianz

sinx cos T

° Watch Video Solution



https://dl.doubtnut.com/l/_kv0CPlc0SKQD
https://dl.doubtnut.com/l/_QO4FRjnR1PPP
https://dl.doubtnut.com/l/_nu1KW2vROUkS

35. Integrate the functions

(1 + logz)?
T

° Watch Video Solution

36. Integrate the functions

(z 4+ 1)(z + logz)?

o Watch Video Solution

37. Integrate the functions

3

x sin(tan_ 1 x4)

1+ 28

° Watch Video Solution



https://dl.doubtnut.com/l/_mNGoOYVHtYYR
https://dl.doubtnut.com/l/_2J6ABUE6UWsz
https://dl.doubtnut.com/l/_bT89zZ1Iyplr

38. Choose the correct answer

10z° + 10” log, 10dz
/ equals

210 + 10*
A 10° — 2% + C
B.10° + 2! + C
1

c.(10° —z) " +cC

D. 10g(10’“’ + wlo) +C

Answer: D

° Watch Video Solution

39. Choose the correct answer

dx
o equals
sin® x cos? x

A.tan x + cot x+ C

B.tan x —cot x+ C


https://dl.doubtnut.com/l/_27H4p3dMVcXz
https://dl.doubtnut.com/l/_WsB7gMzsHUhk

C.tan xcotx+C

D.tan x - cot 2x+ C

Answer: B

° Watch Video Solution

1. Find the integrals of the functions

sin®(2z + 5)

o Watch Video Solution

2. Find the integrals of the functions

sin 3x cos 4x

° Watch Video Solution



https://dl.doubtnut.com/l/_WsB7gMzsHUhk
https://dl.doubtnut.com/l/_4co4iVmuf6RZ
https://dl.doubtnut.com/l/_bJNdc3nsJbKG

3. Find the integrals of the functions

COS 2Xx cos 4x cos 6x

° Watch Video Solution

4.Find the integrals of the functions

sin®(2z + 1)

° Watch Video Solution

5.Find the integrals of the functions

sin® z cos® z

° Watch Video Solution



https://dl.doubtnut.com/l/_bJNdc3nsJbKG
https://dl.doubtnut.com/l/_gaXPABdbb95d
https://dl.doubtnut.com/l/_9XxPxuLa35vs
https://dl.doubtnut.com/l/_2bUDTEUOzTLD

6. Find the integrals of the functions

sin x sin 2x sin 3x

° Watch Video Solution

7.Find the integrals of the functions

sin 4x sin 8x

° Watch Video Solution

8. Find the integrals of the functions

1 —cosz
1+ cosxz

o Watch Video Solution



https://dl.doubtnut.com/l/_USuDBJPVEq9P
https://dl.doubtnut.com/l/_f1b4JcbDwhLx
https://dl.doubtnut.com/l/_2D9C2DsVTrlZ

9. Find the integrals of the functions

CcoS T
1+ cosxz

° Watch Video Solution

10. Find the integrals of the functions

sin* z

o Watch Video Solution

11. Find the integrals of the functions

cos? 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_U6FdfYFO4XMu
https://dl.doubtnut.com/l/_BO5pWbmP07Te
https://dl.doubtnut.com/l/_wR8OmnWe3fVc

12. Find the integrals of the functions

sin® x

1+ cosx

o Watch Video Solution

13. Find the integrals of the functions

Ccos 2 — cos 2«

COS T — COS «x

o Watch Video Solution

14. Find the integrals of the functions

cosT — sinx
1+ sin2x

° Watch Video Solution



https://dl.doubtnut.com/l/_rxTo1v4uhHWW
https://dl.doubtnut.com/l/_jEVKDiiZEi2f
https://dl.doubtnut.com/l/_w6LdZBa9Z7sM

15. Find the integrals of the functions

tan® 2z sec 2z

° Watch Video Solution

16. Find the integrals of the functions

tan4 x

° Watch Video Solution

17. Find the integrals of the functions

3 3

x -+ cos
2

sin T

sin“ x cos? x

° Watch Video Solution



https://dl.doubtnut.com/l/_rrGZzAZJCp7d
https://dl.doubtnut.com/l/_9DE2BhBQtj2q
https://dl.doubtnut.com/l/_Dn6l7rWHdei3

18. Find the integrals of the functions

cos 2z + 2sin’ x

cos? x

o Watch Video Solution

19. Find the integrals of the functions
1

sinx cos3 x

o Watch Video Solution

20. Find the integrals of the functions

cos 2x

(cos z + sin ac)2

° Watch Video Solution



https://dl.doubtnut.com/l/_hTdkndaLFL9x
https://dl.doubtnut.com/l/_4LHHSBjbZTaC
https://dl.doubtnut.com/l/_otuZGfVohpNp

21. Find the integrals of the functions

sin~!(cos z)

° Watch Video Solution

22.Find the integrals of the functions
1

cos(z—a)cos(z—b)

° Watch Video Solution

23. Choose the correct answer

sinz — cos?z |, |
dx is equal to

sin® z cos? x

A.tan x+ cot x+ C

B.tan x + cosecx+ C

C.—tanx +cotx +C


https://dl.doubtnut.com/l/_ifM1l6muRLGf
https://dl.doubtnut.com/l/_UAxZ7MuATVgo
https://dl.doubtnut.com/l/_wQOxTtysllqk

D.tan x +secx+ C

Answer: A

° Watch Video Solution

24. Choose the correct answer

e”(1+ x)
/—dm equals
cos?(e*x)

A. —cot(ex®) + C
B. tan(ze”) + C
C.tan(e”) + C

D.cot(e”) + C

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wQOxTtysllqk
https://dl.doubtnut.com/l/_hAwdaGm7aAbO

1. Integrate the function

3x2

6 +1

° Watch Video Solution

2. Integrate the function
1
v 1+ 4x2

o Watch Video Solution

3. Integrate the function

1
\/(2—:13)2—4—1

° Watch Video Solution



https://dl.doubtnut.com/l/_IQbKunAGU4yE
https://dl.doubtnut.com/l/_GTFr3IgyguJX
https://dl.doubtnut.com/l/_te3PaySYgNEN
https://dl.doubtnut.com/l/_xMpiiLsEHyCW

4.Integrate the function

1
V9 — 2522

o Watch Video Solution

5. Integrate the function

3z
1+ 224

° Watch Video Solution

6. Integrate the function

$2

1— 26

o Watch Video Solution



https://dl.doubtnut.com/l/_xMpiiLsEHyCW
https://dl.doubtnut.com/l/_xJ7LE9J0OvHO
https://dl.doubtnut.com/l/_28ZzJVrxNTuO

7.Integrate the function
z—1

2 —1

° Watch Video Solution

8. Integrate the function

2132

vab + ab

o Watch Video Solution

9. Integrate the function

sec2 Z

\/tan2m+4

° Watch Video Solution



https://dl.doubtnut.com/l/_HTg4NOsjEarI
https://dl.doubtnut.com/l/_qjVd7PEuOiMb
https://dl.doubtnut.com/l/_FO3lToDpOjM6

10. Integrate the function
1

vV + 2z + 2

° Watch Video Solution

11. Integrate the function

1
922 + 6z + 5

o Watch Video Solution

12. Integrate the function

1
V7 —6x — z2

° Watch Video Solution



https://dl.doubtnut.com/l/_SntPBAzrt7Jo
https://dl.doubtnut.com/l/_gpwEsDQzUSWP
https://dl.doubtnut.com/l/_qNzWwph9qZOp

13. Integrate the function

1
V@ D2

° Watch Video Solution

14. Integrate the function

1
V8 + 3z — z2

° Watch Video Solution

15. Integrate the function

1
\/(w —a)(x —b)

° Watch Video Solution



https://dl.doubtnut.com/l/_ZtF5QVqUTPhc
https://dl.doubtnut.com/l/_k2BBOgAhyRiB
https://dl.doubtnut.com/l/_VZRnhFVaemdz

16. Integrate the function
dzr + 1

V22 4+ — 3

° Watch Video Solution

17. Integrate the function
T+ 2

Va2 —1

o Watch Video Solution

18. Integrate the function
o — 2
1+ 2z + 3x2

° Watch Video Solution



https://dl.doubtnut.com/l/_P3RpiRD273eu
https://dl.doubtnut.com/l/_qQfNl01UIv55
https://dl.doubtnut.com/l/_Q5YyL8hnJDqg

19. Integrate the function
6 + 7
N(CED R

° Watch Video Solution

20. Integrate the function
T+ 2

Vir — x2

° Watch Video Solution

21.Integrate the function
x4+ 2

Va2 +2x + 3

° Watch Video Solution



https://dl.doubtnut.com/l/_heHEtj03kX2U
https://dl.doubtnut.com/l/_sTKCHrISbd56
https://dl.doubtnut.com/l/_A2bETKxZktfi

22.Integrate the function

x+ 3
x2 —2x —5

° Watch Video Solution

23. Integrate the function
5 + 3
Va? + 4z + 10

o Watch Video Solution

24. Choose the correct answer
/ dz equals
x2 4+ 2x + 2 q
Aztan *(z +1) +C
B.tan '(z +1) + C

C(z+ Dtan 'z +C


https://dl.doubtnut.com/l/_rEC9xulyO7q1
https://dl.doubtnut.com/l/_EN69VcQ5LYcW
https://dl.doubtnut.com/l/_AVcDORAsEppt

D.tan 'z + C

Answer: B

° Watch Video Solution

25. Choose the correct answer

dz
W equa|S
VIL — a4l

+
Q

+
Q

+
Q

+
Q

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AVcDORAsEppt
https://dl.doubtnut.com/l/_YYPTsXxrLs5q

1. Integrate the rational functions

(z +1)(z + 2)

° Watch Video Solution

2. Integrate the rational functions
1

x2 -9

° Watch Video Solution

3. Integrate the rational functions
3z — 1
(z —1)(x — 2)(z — 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_FLO2k9JnRBlA
https://dl.doubtnut.com/l/_2tFNqCnNPcZp
https://dl.doubtnut.com/l/_Rvzg8fm1mvGM
https://dl.doubtnut.com/l/_AIlcOR99Jj7m

4.Integrate the rational functions

(z —1)(z - 2)(z - 3)

° Watch Video Solution

5.Integrate the rational functions

2x
z2 + 3z + 2

° Watch Video Solution

6. Integrate the rational functions

1— z2

z(1 — 2z)

° Watch Video Solution



https://dl.doubtnut.com/l/_AIlcOR99Jj7m
https://dl.doubtnut.com/l/_CG5cNfrKeKAS
https://dl.doubtnut.com/l/_6dCVNqS9iLK2

7.Integrate the rational functions

(22 +1)(z — 1)

° Watch Video Solution

8.Integrate the rational functions

(z — 1)*(z + 2)

° Watch Video Solution

9.Integrate the rational functions

3z + 5
zd—2?2 -z +1

o Watch Video Solution



https://dl.doubtnut.com/l/_I3qLdFqeCLVo
https://dl.doubtnut.com/l/_9VBWplnXZiCF
https://dl.doubtnut.com/l/_wz9ezC9aPsgO

10. Integrate the rational functions
2z — 3
(z2 — 1)(2z + 3)

° Watch Video Solution

11. Integrate the rational functions

5T
(z +1)(z2 — 4)

° Watch Video Solution

12. Integrate the rational functions

x>+ +1
2 —1

° Watch Video Solution



https://dl.doubtnut.com/l/_zaW0DWiefOw2
https://dl.doubtnut.com/l/_p0RJKY3BwPey
https://dl.doubtnut.com/l/_utOOLbhhR7kE

13. Integrate the rational functions
2
(1—2)(1+ z?)

° Watch Video Solution

14. Integrate the rational functions
3r — 1
(z +2)°

° Watch Video Solution

15. Integrate the rational functions

1

A |

o Watch Video Solution



https://dl.doubtnut.com/l/_lbGLjDSAW7zI
https://dl.doubtnut.com/l/_defXoLH3ukaw
https://dl.doubtnut.com/l/_7OEEtIOQm8kB

16. Integrate the rational functions

z(z" + 1)
put " =t]

[Hint: multiply numerator and denominator by z"

1

and

o Watch Video Solution

Ccos T
17. Hint : Put sin x =t
(1 —sinz)(2 — sinx) [ ]

° Watch Video Solution

18. Integrate the rational functions
(2 + 1) (2% + 2)
(22 + 3)(x? + 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_A7I6fvxILyU7
https://dl.doubtnut.com/l/_yMYY5RNVgXiG
https://dl.doubtnut.com/l/_P9x8iaMX7zf1

19. Integrate the rational functions
2z
(2 +1)(z2 + 3)

° Watch Video Solution

20. Integrate the rational functions

z(z* — 1)

° Watch Video Solution

21.Integrate the rational functions

( : [Hint : Put e =t]
e’ —

° Watch Video Solution



https://dl.doubtnut.com/l/_CXeAU2IcL3D9
https://dl.doubtnut.com/l/_2s3SJgu3wwYu
https://dl.doubtnut.com/l/_H0zwkuJdnQKi

22. Choose the correct answer

/ zdzx |
@ —1)(z—2) @

(@~ 1)’
A.logﬁ +C
(@~ 2)?
B.logﬁ +C

—1\?
C.log(z_2) +C

D.log|(z — 1)(x — 2)| + C

Answer: B

o Watch Video Solution

23. Choose the correct answer
/ dzx |
——— equals
z(x2 + 1) a
1 2
A log|z| — Elog(m +1)+C

1
B. log|z| + Elog(.ﬂc2 +1)+C


https://dl.doubtnut.com/l/_ZaqS9LGCy5IS
https://dl.doubtnut.com/l/_3KmUK2q3xogr

1
C. —log|z| + Elog(ac2 +1)+C

1
D. Elog|x| +log(z® + 1) + C

Answer: A

° Watch Video Solution

1. Integrate the functions

rsinz

o Watch Video Solution

2. Integrate the functions

x sin 3z

° Watch Video Solution



https://dl.doubtnut.com/l/_3KmUK2q3xogr
https://dl.doubtnut.com/l/_LBLpnnz0JkOi
https://dl.doubtnut.com/l/_I0pbkeYPeuGw

3. Integrate the functions

z2e”

° Watch Video Solution

4.Integrate the functions

xlogx

o Watch Video Solution

5.Integrate the functions

x log 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_I0pbkeYPeuGw
https://dl.doubtnut.com/l/_NKrPK9e5iknk
https://dl.doubtnut.com/l/_JH5Rajcx1mQx
https://dl.doubtnut.com/l/_7AE7zYQDq1zE

6. Integrate the functions

z?log

° Watch Video Solution

7.Integrate the functions

zsin 'z

° Watch Video Solution

8. Integrate the functions

a:tan_l x

o Watch Video Solution



https://dl.doubtnut.com/l/_v9DGbtZvoQab
https://dl.doubtnut.com/l/_bT15iwM3VJJV
https://dl.doubtnut.com/l/_yGTyBmc1MciP

9. Integrate the functions

a:cos_laz

° Watch Video Solution

10. Integrate the functions

(sirf1 a:)2

° Watch Video Solution

1. Integrate the functions

:L'COS_IZU

V1 — 22

o Watch Video Solution



https://dl.doubtnut.com/l/_yOOlDy10H0G6
https://dl.doubtnut.com/l/_x0QXYezzbo2Q
https://dl.doubtnut.com/l/_LfuFtR7MD2uI

12. Integrate the functions

Z 8602 T

° Watch Video Solution

13. Integrate the functions

tan 'z

° Watch Video Solution

14. Integrate the functions

z(logz)?

o Watch Video Solution



https://dl.doubtnut.com/l/_VUQ3fGHok1e5
https://dl.doubtnut.com/l/_4QPFhiNDkuFA
https://dl.doubtnut.com/l/_8AhhJ4MgomlW

15. Integrate the functions

(mz + 1) log x

° Watch Video Solution

16. Integrate the functions

e’(sinz + cos x)

° Watch Video Solution

17. Integrate the functions

re’

(1+a)

o Watch Video Solution



https://dl.doubtnut.com/l/_JOhYbKMzCb0i
https://dl.doubtnut.com/l/_wxRkQ8ay7wug
https://dl.doubtnut.com/l/_lfLrUdQi9ODL

18. Integrate the functions

- 1+ sinx
€ 1+ cosx

° Watch Video Solution

19. Integrate the functions

/11
e;;

° Watch Video Solution

20. Integrate the functions
(z — 3)e”
(¢ —1)°

° Watch Video Solution



https://dl.doubtnut.com/l/_iYtQHv9huu3i
https://dl.doubtnut.com/l/_JxkAioi1pxwz
https://dl.doubtnut.com/l/_v5kYVQdmhvMH

21. Integrate the functions

e sinx

° Watch Video Solution

22. Integrate the functions

__1< 2z )
sin
1+ 22

o Watch Video Solution

23. Choose the correct answer
ﬁcze$3da: equals

A —e® +C

2

e’ +C

@

N
| = W = W


https://dl.doubtnut.com/l/_vaEY2kpi0uWS
https://dl.doubtnut.com/l/_VRgzGke7eaqZ
https://dl.doubtnut.com/l/_tfigvl6KL5zQ

1
D. Eem + C

Answer: A

° Watch Video Solution

24. Choose the correct answer
/e"” secz(1l + tanz)dz equals
A.e*cosz +C
B.e*secx + C
C.e*sinz + C

D.e*tanx + C

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tfigvl6KL5zQ
https://dl.doubtnut.com/l/_7vxM2sVHFCvk

1. Integrate the functions

4 — g2

° Watch Video Solution

2. Integrate the functions

V1 — 4z

o Watch Video Solution

3. Integrate the functions

\/a:2+4:c—|—6

° Watch Video Solution



https://dl.doubtnut.com/l/_qNha4T4WGjVQ
https://dl.doubtnut.com/l/_VhuDiXBUscQv
https://dl.doubtnut.com/l/_8nCeOjjtiwVP
https://dl.doubtnut.com/l/_hrvki6HE6LVF

4. Integrate the functions

\/a:2+4a:—|—1

° Watch Video Solution

5. Integrate the functions

\/1—4m—x2

° Watch Video Solution

6. Integrate the functions

\/w2+4a:—5

o Watch Video Solution

7.Integrate the functions

\/1—|—3w—:v2


https://dl.doubtnut.com/l/_hrvki6HE6LVF
https://dl.doubtnut.com/l/_9NgWN68NJxO9
https://dl.doubtnut.com/l/_ihTUHOEHGxyl
https://dl.doubtnut.com/l/_c3rKlLFZNICE

° Watch Video Solution

8. Integrate the functions

\/:1:2 + 3z

° Watch Video Solution

9.Integrate the functions

2
14+ 2
Jr9

° Watch Video Solution

10. Choose the correct answer

/\/ 1 + z%dz is equal to

1
A.% 1+w2+510g}<x+\/1+a32)’—|—0


https://dl.doubtnut.com/l/_c3rKlLFZNICE
https://dl.doubtnut.com/l/_TRmEqVEOmADr
https://dl.doubtnut.com/l/_aS93hwbkrss0
https://dl.doubtnut.com/l/_WGfZnqwcZBYi

3
2

B. (1—1-332) +C

3
2

C. +C

Wl W

m(l + :1:2)

2
D.%\/1+m2 + %leog‘x + \/1—1—:102‘ +C

Answer: A

° Watch Video Solution

11. Choose the correct answer

/\/as2 — 8x + 7 dxis equal to

A

1
5(:3—4)\/:32—8x+7+910g‘m—4+ \/m2—8m+7‘ +C

1 -
§(w+4)\/x2—8m+7+910g‘m+4+ Vol =8z +7+C


https://dl.doubtnut.com/l/_WGfZnqwcZBYi
https://dl.doubtnut.com/l/_EOUgZmf6xnmv

1
5(:3—4)\/312 —8x+7—3\/§log‘x—4+\/w2 —8w+7‘ +C

1 9
5(3@—4)\/152—8304—7— Elog)x—4—l— \/:1:2—8:v—|—7) +C

Answer: B

° Watch Video Solution

1. Evaluate the following definite integrals as limit of sums.

b
/ zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_EOUgZmf6xnmv
https://dl.doubtnut.com/l/_FO21xwE1UHH0

2. Evaluate the following definite integrals as limit of sums.

/05(:zz+1)d:1:

° Watch Video Solution

3. Evaluate the following definite integrals as limit of sums.

3
/ z2dx
2

° Watch Video Solution

4. Evaluate the following definite integrals as limit of sums.

/14 (ar:2 — :I:)dac

° Watch Video Solution



https://dl.doubtnut.com/l/_hfUQEwA1v9vF
https://dl.doubtnut.com/l/_CV93eIq5T4qf
https://dl.doubtnut.com/l/_OeQDBkOne8VQ

5. Evaluate the following definite integrals as limit of sums.

1
/ e’dx
-1

o Watch Video Solution

6. Evaluate the following definite integrals as limit of sums.

4
/ (m + e2””)daz
0

° Watch Video Solution

1. Evaluate the definite integrals

/_1 (z + 1)dz

1

° Watch Video Solution



https://dl.doubtnut.com/l/_eDnzs8VHIIyI
https://dl.doubtnut.com/l/_UdmUqkAoU8wu
https://dl.doubtnut.com/l/_cthbg2M5Jtda

2. Evaluate the definite integrals

/
I
2

° Watch Video Solution

3. Evaluate the definite integrals

2
/ (43:3 — b5x2 + 6x + 9)d:c
1

° Watch Video Solution

4. Evaluate the definite integrals

/ ) sin 2zdzx
0

o Watch Video Solution



https://dl.doubtnut.com/l/_v4FN80Y9vd7S
https://dl.doubtnut.com/l/_IWBX7Ow82UQt
https://dl.doubtnut.com/l/_NkyT0FZUCfbH

5. Evaluate the definite integrals

/ ’ cos 2zdzx
0

° Watch Video Solution

6. Evaluate the definite integrals

5
/ e’dzx
4

° Watch Video Solution

7.Evaluate the definite integrals

1
/ tanzdzx
0

° Watch Video Solution



https://dl.doubtnut.com/l/_0xQ1fh7aUDWq
https://dl.doubtnut.com/l/_ma3K3ewpgfNV
https://dl.doubtnut.com/l/_MzvcRChArTX0

8. Evaluate the definite integrals

1
/ cos ecxdx
6

° Watch Video Solution

9. Evaluate the definite integrals

1
/ dzx
0 V14 22

° Watch Video Solution

10. Evaluate the definite integrals

/1 dx
0 1+$2

° Watch Video Solution



https://dl.doubtnut.com/l/_YiIwGjRfR32c
https://dl.doubtnut.com/l/_YwLtbq8Xq3Ot
https://dl.doubtnut.com/l/_Nc47lp7kGzfK

11. Evaluate the definite integrals

/3 dzx
2 2 —1

° Watch Video Solution

12. Evaluate the definite integrals

cos” xdx
0

o Watch Video Solution

13. Evaluate the definite integrals

/3 rdx
2 $2+1

o Watch Video Solution



https://dl.doubtnut.com/l/_ZglAbqj7T9z8
https://dl.doubtnut.com/l/_QiPbBokPqiCm
https://dl.doubtnut.com/l/_GrCGbkh4riO6

14. Evaluate the definite integrals

1
2 3
/ Ldm
o bx2+1

° Watch Video Solution

15. Evaluate the definite integrals

1
2
/ ze® dx
0

° Watch Video Solution

16. Evaluate the definite integrals

/2 5%2
1 244z + 3

° Watch Video Solution



https://dl.doubtnut.com/l/_gYEuPVKyl9ml
https://dl.doubtnut.com/l/_GrQg2ubDFS5U
https://dl.doubtnut.com/l/_jDwQmDKiSuXz

17. Evaluate the definite integrals

/% (2sec2x +z3 + 2)dz
0

° Watch Video Solution

18. Evaluate the definite integrals

T /sin cos?
[ (o)
0 2 2

o Watch Video Solution

19. Evaluate the definite integrals

/2 6z + 3
dx
0 $2+4

° Watch Video Solution



https://dl.doubtnut.com/l/_MCDJMNgAT383
https://dl.doubtnut.com/l/_bv4F5lGFnqNy
https://dl.doubtnut.com/l/_AkM32JtMtSFa

20. Evaluate the definite integrals

[ (s 2,

o Watch Video Solution

21. Choose the correct answer

V3 dx
equals
/1 1+ x2 a

A

N

o
Gla 2 efy @ln

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NLzFHB4w21Rn
https://dl.doubtnut.com/l/_lG2yBtaN27Nd
https://dl.doubtnut.com/l/_mv62DCKnaoEK

22. Choose the correct answer

/%d—we uals
o 4+ 9z2 a

w >
> §|=] 5|>‘ o3

n

o

Answer: C

° Watch Video Solution

Exercise 7 10

1. Evaluate the integrals by using substitution

1
/ z dx
0 cc2+1

| a wAr_o_L vl _ _ e~_ 0.6 _


https://dl.doubtnut.com/l/_mv62DCKnaoEK
https://dl.doubtnut.com/l/_mOsbMDeFs7LX

L T vvallll ViUcCoO oUVIULiOIl

2. Evaluate the integrals by using substitution

/3 \/sin ¢ cos® pd¢
0

o Watch Video Solution

3. Evaluate the integrals by using substitution

1 2
/ sin_1< v )dw
0 1+ 22

° Watch Video Solution

4. Evaluate the integrals by using substitution

2
/ :c\/az+2(Putx+2=t2)
0

° View Text Solution



https://dl.doubtnut.com/l/_mOsbMDeFs7LX
https://dl.doubtnut.com/l/_xfoNiYwJeeZB
https://dl.doubtnut.com/l/_DGyK5GD7j9a2
https://dl.doubtnut.com/l/_2pOrXOfLpna5
https://dl.doubtnut.com/l/_yilnqHcqVxdT

5. Evaluate the integrals by using substitution

us
2 sinx
/ —2da:
o 14 cos“x

0 Watch Video Solution

6. Evaluate the integrals by using substitution

/2 dx
0o = +4— 22

° Watch Video Solution

7. Evaluate the integrals by using substitution

/1 dx
122 +2x+5

° Watch Video Solution



https://dl.doubtnut.com/l/_yilnqHcqVxdT
https://dl.doubtnut.com/l/_iAWthfT0IXoc
https://dl.doubtnut.com/l/_vyYqpW1AepVc

8. Evaluate the integrals by using substitution

2 /1 1 2
L \z 22 )

° Watch Video Solution

9. Choose the correct answer

1

(@~}

1
The value of the integral/ —4dm is
1 x

A.6
B.O
C.3

D.4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_N5vUBCTpMjVB
https://dl.doubtnut.com/l/_FXEGfRhsd38h
https://dl.doubtnut.com/l/_CfdrDhOjX4a0

10. Choose the correct answer
T
If f(x)=/ tsintdt, then f' (x) is
0
A. cosx + X sin X
B. X sinx
C. X cosx

D. sinx + X cosx

Answer: B

° View Text Solution

Exercise 7 11

1. By using the properties of definite integrals, evaluate the integrals

™

R
cos” zdzx
0

| &


https://dl.doubtnut.com/l/_CfdrDhOjX4a0
https://dl.doubtnut.com/l/_g2y2EEYjf8G1

[ W View Text Solution ]

2.By using the properties of definite integrals, evaluate the integrals

2 \/sinzx

0 +/sinz + /cosz

dx

o View Text Solution

3. By using the properties of definite integrals, evaluate the integrals

T 3
2 sin? zdzx
. 3 3
0 sin?2x + cosz2x

° Watch Video Solution

4.By using the properties of definite integrals, evaluate the integrals
/5 cos’® zdz
0 sin’z + cos®z

0 Watch Video Solution



https://dl.doubtnut.com/l/_g2y2EEYjf8G1
https://dl.doubtnut.com/l/_gCuJSg44R5AT
https://dl.doubtnut.com/l/_hcCzHpok3gO3
https://dl.doubtnut.com/l/_ffWEDMsbGXeZ

5.By using the properties of definite integrals, evaluate the integrals

5
/ |z + 2|dz
-5

o Watch Video Solution

6. By using the properties of definite integrals, evaluate the integrals

8
/ |z — 5|dx
2

° Watch Video Solution

1
7./ z(1 —z)"dz
0

° Watch Video Solution

8.By using the properties of definite integrals, evaluate the integrals

/ ' log(1ltanz)dx
0


https://dl.doubtnut.com/l/_Cv2BTQ7DUGaB
https://dl.doubtnut.com/l/_nVCSic4De3AK
https://dl.doubtnut.com/l/_g0JNENXTtZS0
https://dl.doubtnut.com/l/_LST37WfvZYdc

° Watch Video Solution

9.By using the properties of definite integrals, evaluate the integrals

2
/ T+/2 — xdx
0

° Watch Video Solution

10. By using the properties of definite integrals, evaluate the

integrals

/ : (2logsinx logsin 2z)dx
0

o Watch Video Solution

1. By using the properties of definite integrals, evaluate the

integrals

/ sin® zdz

2

[N


https://dl.doubtnut.com/l/_LST37WfvZYdc
https://dl.doubtnut.com/l/_6ten4ZDoTYaJ
https://dl.doubtnut.com/l/_Xq8UveojaZny
https://dl.doubtnut.com/l/_HXAo46bHnQD9

° Watch Video Solution

12. By using the properties of definite integrals, evaluate the

integrals
T zdx
o l+sinz

° Watch Video Solution

13. By using the properties of definite integrals, evaluate the

integrals

™

2 . 7
sin’ zdx

2

° Watch Video Solution

14. By using the properties of definite integrals, evaluate the

integrals


https://dl.doubtnut.com/l/_HXAo46bHnQD9
https://dl.doubtnut.com/l/_9Jf8d6fufxWW
https://dl.doubtnut.com/l/_zhufnsDnXJZx
https://dl.doubtnut.com/l/_0gjIWq4jWQhL

27
/ cos® zdx
0

° Watch Video Solution

15. By using the properties of definite integrals, evaluate the

integrals

™
7 sinxz — cosz
dx
0

1+ sinxcoszx

° Watch Video Solution

16. By using the properties of definite integrals, evaluate the

integrals

/ log(1 + cos z)dx
0

° Watch Video Solution



https://dl.doubtnut.com/l/_0gjIWq4jWQhL
https://dl.doubtnut.com/l/_9nsT52jmPy5j
https://dl.doubtnut.com/l/_5KlGxPYg8Dci

17. By using the properties of definite integrals, evaluate the

integrals

/oa\/EJr\/jmdx

° Watch Video Solution

18. By using the properties of definite integrals, evaluate the

integrals

4
/ |z — 1|dz
0

o Watch Video Solution

19. Show that / f(z)g(z)dz = 2/ f(z)dz, if f and g are defined
0 0

asf(x)=f(a-x)and g(x) +gla-x)=4

o Watch Video Solution



https://dl.doubtnut.com/l/_zJnYYZAHg7C8
https://dl.doubtnut.com/l/_wpuyRouRTtdw
https://dl.doubtnut.com/l/_aZ12qVDCePZE
https://dl.doubtnut.com/l/_6iYTAavSssVa

20. Choose the correct answer

The value of/ ’ (ac3 + zcosx + tan® z + 1)da; is

— T

2

A.O

B.2

D.1

Answer: C

0 Watch Video Solution

21. Choose the correct answer

s 4 .
The value of/ : log<m>da} is
0 4+ 3cosx

A2


https://dl.doubtnut.com/l/_6iYTAavSssVa
https://dl.doubtnut.com/l/_OClMxlbALGMu

Answer: C

° Watch Video Solution

Exercise 7 12

1. Integrate the functions

1

x — a3

o Watch Video Solution

2. Integrate the functions

1
vr+a+ v +b



https://dl.doubtnut.com/l/_OClMxlbALGMu
https://dl.doubtnut.com/l/_mL4ztzpNou3H
https://dl.doubtnut.com/l/_p0lyfGfM0Q0o

o Watch Video Solution

3. Integrate the functions

a
[Hint: Put x =—]
t

1
xvazr — x2

° Watch Video Solution

4.Integrate the functions
1

z?(z? + 1)%

o Watch Video Solution

5.Integrate the functions

1 _ 1 ]
—— [Hint: = ,putz = ¢°]

1 1 1 1
(1 + a,'E)

ol

T2 + I3 T2 + I3 T

° Watch Video Solution



https://dl.doubtnut.com/l/_p0lyfGfM0Q0o
https://dl.doubtnut.com/l/_4b84bR8cs54Q
https://dl.doubtnut.com/l/_K2iCftXE4JKV
https://dl.doubtnut.com/l/_CuuqiOn7RXQR

6. Integrate the functions

oT
(z 4+ 1)(xz2 +9)

° Watch Video Solution

7.Integrate the functions
sinz

sin(z — a)

° Watch Video Solution

8.Integrate the functions

65 logx e4logac

e3 logx __ e2logac

° Watch Video Solution



https://dl.doubtnut.com/l/_Wfjd5CCHLGIi
https://dl.doubtnut.com/l/_iRwPLxPzM96q
https://dl.doubtnut.com/l/_wLhSV74OZB9y

9. Integrate the functions

COsS T

4 —sin’z

° Watch Video Solution

10. Integrate the functions

sin® — cos® z

. 2
1 — 2sin“zcos?z

° Watch Video Solution

11. Integrate the functions

1
cos(z + a)cos(z + b)

o Watch Video Solution



https://dl.doubtnut.com/l/_z6XQMIhLjSmt
https://dl.doubtnut.com/l/_LNT29FzJW88i
https://dl.doubtnut.com/l/_Pzl21syhzTYO

12. Integrate the functions

$3

v1— 28

° Watch Video Solution

13. Integrate the functions

e$

(1+en)(2+e)

° Watch Video Solution

14. Integrate the functions

1
(22 + 1) (22 + 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_pE28QTMRtHW1
https://dl.doubtnut.com/l/_vk39uheUHkXD
https://dl.doubtnut.com/l/_rQKTOWIFWS1D

15. Integrate the functions

COS3 ZEBIOg sin

° Watch Video Solution

16. Integrate the functions

e3loga:(m4 + 1) -1

° Watch Video Solution

17. Integrate the functions

f’'(az + b)[f(az + b)]"

o Watch Video Solution



https://dl.doubtnut.com/l/_DTUqG2H37WVj
https://dl.doubtnut.com/l/_Y3ecmW5PR6x3
https://dl.doubtnut.com/l/_rnKCTfyGnW0i

18. Integrate the functions

1

\/sin?’ z sin(z + «)

° Watch Video Solution

19. Integrate the functions

sin~'y/z —cos"1\/z

sin~!\/z + cos ! \/5

° Watch Video Solution

20. Integrate the functions

11—z
1+ 4z

° Watch Video Solution



https://dl.doubtnut.com/l/_HT1GkcBDNwRU
https://dl.doubtnut.com/l/_shNjyf8kfSd8
https://dl.doubtnut.com/l/_fesJaa0wWStZ

21. Integrate the functions

2 + sin2x
1+ cos 2z €

T

° Watch Video Solution

22. Integrate the functions

24+ x+1
(z + 1)*(z + 2)

° Watch Video Solution

23. Integrate the functions

1 1—=x
1+=x

tan

° Watch Video Solution



https://dl.doubtnut.com/l/_fBAFBriGay5m
https://dl.doubtnut.com/l/_wvzoJpJY0O0Y
https://dl.doubtnut.com/l/_e675etyLnwih

24. Integrate the functions

Va? + 1[log(z? + 1) — 2logz]

rd

° Watch Video Solution

25. Evaluate the definite integrals

/7r m(l—sinw)
e’ — |dzx
z 1—coszx

° Watch Video Solution

26. Evaluate the definite integrals

1 sinxcoszT
dx
0

costz + sin*z

° Watch Video Solution



https://dl.doubtnut.com/l/_jUjG2wDyjQJZ
https://dl.doubtnut.com/l/_F4Gv6Zq8mQ1F
https://dl.doubtnut.com/l/_GlpoKhHJsGao

27. Evaluate the definite integrals

/5 cos? zdx
o coslz + 4sin’zx

° Watch Video Solution

28. Evaluate the definite integrals

3 sinx + cosx

z v/sin 2x

dx

° Watch Video Solution

29. Evaluate the definite integrals

[ ==

° Watch Video Solution



https://dl.doubtnut.com/l/_3afNsIbB3qsj
https://dl.doubtnut.com/l/_azujxIQAjWzV
https://dl.doubtnut.com/l/_3BjmGUWXGmet

30. Evaluate the definite integrals

/% sinx + coszx
- dx
o 9+ 16sin2z

° Watch Video Solution

31. Evaluate the definite integrals

/ " sin 2z tan~!(sinz)dz
0

o Watch Video Solution

32. Evaluate the definite integrals

/7r ztanz
dz
o secr +tanzx

° Watch Video Solution



https://dl.doubtnut.com/l/_LTZqr76ACKPB
https://dl.doubtnut.com/l/_wePGjB9ctJCz
https://dl.doubtnut.com/l/_qMt4DaLLiXB5

33. Evaluate the definite integrals

4
/ e — 1]+ |z — 2| + |z — 3[]dz
1

o Watch Video Solution

34. Prove the following

1
/ zefdr =1
0

o Watch Video Solution

35. Prove the following

1
/ 27 costzdzr = 0
-1

° Watch Video Solution



https://dl.doubtnut.com/l/_Q8CQOrRCYxnX
https://dl.doubtnut.com/l/_RO3iqXPbXAmc
https://dl.doubtnut.com/l/_0SpmZDHjaMdn

36. Prove the following

/4 2tan® zdz = 1 — log?2
0

° Watch Video Solution

1
37.Evaluate / e2 7 3%dz as a limit of a sum.
0

O Watch Video Solution

38. Choose the correct answers
/ dx .
————isequal to
eac + e—w
A.tan"'(e%) 4+ C
B. tan_l(e_w) + C
C.log(e® —e ") +C

D. log(e‘” + e_"") +C


https://dl.doubtnut.com/l/_gR5xILH5nQRC
https://dl.doubtnut.com/l/_FYOmkOYn2BKv
https://dl.doubtnut.com/l/_xN2cA8fH9yHq

Answer: A

0 Watch Video Solution

39. Choose the correct answers

/ cos 2x )
dz is equal to
(sinz + cos )

-1
A +C

sinx + cosx

B.log|sinz + cosz| + C

C.loglsinz — cosz| + C

1
D

. (sinz + cos )’

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xN2cA8fH9yHq
https://dl.doubtnut.com/l/_0RGltPhqEBhT

40. Choose the correct answers

b
If f(a +b-x)=f(x), then / z f(x) dx is equal to

b b
A. a—2{— / f(b— z)dx
a+b [°
5. % / £(b+ z)de
b— b
¢ — a/ f(z)dz
b b
D. a—21— / f(z)dx
Answer: D

° Watch Video Solution

41. Choose the correct answers

L 2¢-1 ,
The value of tan —)dzxis
0 1+2— 22

Al

B.O


https://dl.doubtnut.com/l/_9xYMZUpdiKlp
https://dl.doubtnut.com/l/_tkqtWgywvPst

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tkqtWgywvPst

